

$$g_{t} = \frac{Y_{t} - Y_{t-1}}{Y_{t+1}}$$

$$K_{t} = I_{t} + K_{t-1} - 8K_{t-1} \qquad \sum_{t=1}^{6} \sum_{k=1}^{6} K_{t-1} + I_{t} \qquad \sum_{t=1}^{6} K_{t-1}$$

The Solow Growth Model:

Assumptions:

$$Y(t) = C(t) + I(t)$$

$$Y(t) = C(t) + S(t)$$

$$Y(t) = F(K(t), A(t)L(t))$$

مع وله عرافا معلوان

$$Y(t) = f(A(t) K(t), L(t))$$

$$Y(t) = f(A(t) F(K(t), L(t))$$

$$Hicks-newtral$$

$$Y(t) = F(A(t) K(t), A(t) L(t))$$

$$= (A(t) K(t), A(t) L(t))$$

$$= (A(t) K(t), A(t) L(t))$$

$$= (A(t) K(t), A(t) = X(t)$$

$$F(K, XAL) = X(t)$$

$$= \frac{1}{AL} F(K, AL) = \frac{Y(t)}{A(t) L(t)} = Y(t)$$

$$Y(t) = F(\frac{K(t)}{A(t) L(t)}, 1) = f(K(t))$$

$$Y(t) = \frac{Y(t)}{A(t) L(t)}, 1$$

$$Y(t) = \frac{K(t)}{A(t) L(t)}, 1$$

$$Y(t) = \frac{K(t)}{A(t) L(t)}, 1$$

$$Y(t) = \frac{K(t)}{A(t) L(t)}, 1$$

$$Y(t) = F(\frac{K(t)}{A(t) L(t)}, 1$$

$$\pi(t) = Y(t) - (w(t) l(t) + R(t) k(t)) = 0$$

$$\Im(t) = f(k(t))$$

$$f(n) = f'(k) > 0$$

 $\beta''(k) < 0$ 

Inada Conditions

$$lif(k) = \infty$$
  $lif(k) = 0$ 
 $k \rightarrow \infty$ 

Y(+)= F(K(+), A(+)L(+))= K(+)(A(+)L(+))

$$\frac{Y(t)}{A(t)L(t)} = \left(\frac{K(t)}{\rho(t)L(t)}\right)^{\alpha} (1)^{1-\alpha}$$

y(+) = k(+)

Y=[ak0 + (La)(AL)0] =

X(t)

$$dX(t) \Rightarrow \frac{dX(t)}{1+} = \dot{X}(t)$$

$$dX(t) = \frac{dX(t)}{dt} = \dot{X}(t)$$

$$\Delta X_{+} = \dot{X}t - \dot{X}t - 1$$

$$\Delta X_{+} = \dot{X}t - \dot{X}t - 1 = \dot{X}t + \dot{X}t - 1 = \Delta Xt$$

$$\frac{\Delta X_{+}}{\Delta t} = \frac{\dot{X}t - \dot{X}t - 1}{t - (t - 1)} = \dot{X}t + \dot{X}t - 1 = \Delta Xt$$

$$\frac{\dot{X}(t)}{\Delta t} = \frac{\dot{X}(t)^{2}}{\dot{X}(t)} = \dot{X}(t)^{2} \dot{X}(t)$$

$$\dot{X}(t) = \dot{X}(t)^{2} \dot{X}(t) = \dot{X}(t)^{2} \dot{X}(t)$$

$$\dot{X}(t) = \dot{X}(t)^{2} \dot{X}(t)^{2} \dot{X}(t)^{2} \dot{X}(t)$$

$$\dot{X}(t) = \dot{X}(t)^{2} \dot{X}(t)^{2} \dot{X}(t)^{2} \dot{X}(t)^{2} \dot{X}(t)$$

$$\dot{X}(t) = \dot{X}(t)^{2} \dot{X$$

$$k(t) = \frac{N(\tau)}{A(t)L(t)} - \frac{(K(\tau))}{A(t)L(t)} \left( \frac{A(t)L(t)}{A(t)L(t)} + \frac{A(t)L(t)}{A(t)L(t)} \right) \left( \frac{A(t)L(t)}{A(t)L(t)} + \frac{A(t)L(t)}{A(t)L(t)} + \frac{A(t)L(t)}{A(t)L(t)} \right) \left( \frac{A(t)L(t)}{A(t)L(t)} + \frac{A(t)L(t)}{A($$

$$k^* = \frac{K}{A^* L^*}$$

$$5f(k) > (n + g + \delta)k = > k > 0$$
The Balanced Growth Path:
$$Clinian$$

$$k(t) = 5f(k(t)) - (n + g + \delta)k(t)$$

$$phase Diagram$$

$$k(t) = k(t) - \frac{k(t)}{p(t)L(t)} = 0$$

$$\frac{k(t)}{k(t)} = \frac{k'(t)}{k(t)} - \frac{A(t)}{A(t)} - \frac{L(t)}{k(t)} = 0$$

$$k^* = > \frac{k'(t)}{k(t)} = n + g$$

$$p(t) = k'(t) - \frac{A(t)}{k(t)} - \frac{L(t)}{k(t)} = 0$$

$$k^* = > \frac{k'(t)}{k(t)} = n + g$$

$$p(t) = k(t) + (1 - \alpha)(\ln A(t) + \ln L(t))$$

$$\frac{y'(t)}{y'(t)} = \alpha \frac{k'(t)}{k(t)} + (1 - \alpha)(\ln A(t) + \ln L(t))$$

$$\frac{y'(t)}{y'(t)} = \alpha \frac{k'(t)}{k(t)} + (1 - \alpha)(\ln A(t) + \ln L(t))$$

$$\frac{y'(t)}{y'(t)} = \alpha \frac{k'(t)}{k(t)} + (1 - \alpha)(\ln A(t) + \ln L(t))$$

 $\frac{\dot{Y}(t)}{\dot{Y}(t)} = \lambda (n+g) + (1-\lambda)(n+g) = n+g = \frac{\dot{K}(t)}{\dot{K}(t)}$   $\frac{\dot{Y}(t)}{\dot{Y}(t)} = \lambda (n+g) + (1-\lambda)(n+g) = n+g = \frac{\dot{K}(t)}{\dot{K}(t)}$   $\frac{\dot{Y}(t)}{\dot{Y}(t)} = \frac{\dot{C}(t)}{\dot{C}(t)} = \frac{\dot{I}(t)}{\dot{I}(t)} = \frac{\dot{K}(t)}{\dot{K}(t)} = \frac{\dot{S}(t)}{\dot{S}(t)} = n+g$   $\frac{\dot{X}(t)}{\dot{X}(t)} = \frac{\dot{C}(t)}{\dot{C}(t)} = \frac{\dot{I}(t)}{\dot{I}(t)} = \frac{\dot{K}(t)}{\dot{K}(t)} = \frac{\dot{S}(t)}{\dot{K}(t)} = \frac{1}{3}$   $\frac{\dot{X}(t)}{\dot{X}(t)} = \frac{\dot{X}(t)}{\dot{X}(t)} = \frac{\dot{X}(t)}{\dot{X}(t)} = \frac{1}{3}$   $\frac{\dot{X}(t)}{\dot{X}(t)} = \frac{\dot{X}(t)}{\dot{X}(t)} = \frac{1}{3}$   $\frac{\dot{X}(t)}{\dot{X}(t)} = \frac{\dot{X}(t)}{\dot{X}(t)} = \frac{\dot{X}(t)}{\dot{X$